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Environmental Biology 206 EXAM Il 10 March 2006 (exam worth 100 points)

Muitipie Choice (questions have only one correct answer; 21 points total; 1.5 points each)

1. Which folly did your Speth book (p.24) argue we would not be forgiven for by future generations”
a) energy depletion, b) economic collapse, ¢) nuclearwar,@oss of biodiversity, e) fascism

o

’. How many millimeters are there inan inch?
a)10 b)20 ¢)2.54 5_4 &) 254

3 What species did Taylor Edwards study for his masters thesis?
Desert Box Turtle

Desert Tortoise

Coyote

Bullfrog

Lowland Leopard Frog

o o Do

4. Which value is the best estimate of realistic replacement level fertility rates for humans?

a 02
b. 09
& 1.5

d 17
@ 2.2
5. According to the short, 7 minute video we watched about global human population growth, what event
trig,gered the dramatic increase in human population?
a, industrial revolution
. fall of Roman empire
c. development of polio vaccine
d. discovery of penicillin
e. spread of agriculture

2. What is being done with dog feces in San Francisco (that we discussed in class)?
a. being used as plaster and stucco substitute
b. being used to ward off invasive fly species that harm citrus groves
c. being used to fertilize trees in city parks
being used as a fuel source in methane digesters
e. being shipped to the central valley to feed livestack

7 What percentage of the world's population lives in the USA? What percentage of the world's cars are in
the USA? (respectively)

a 3%, 20%

b. 10%, 20% also aciepted a « d .
c. 10%, 30%

d. 5%, 15%

@ 5%, 25%

The term UN, in the context of this class, generally means:
a. Ugly Nations
b.  Unlimited N
¢. ‘not or ‘negative’
d) United Nations
€. None of the above

9. Which fossil fuel source tends to produce the most air pollution?
Coal b. Natural Gas c¢. Cil d Methane e. Hydrogen



Bonine, Boyle, Potter, Environmental Biology, ECOL 206, spring 2006

Using the diagram below, answer the following guestions 7

L

(O}

~I

[

10. Which diagram (A, B, C, or D) represents the highest population growth rate? A
11. Which diagram represents a country like Japan or Sweden? 7

12. Which diagram best represents the USA? 15

13. Which diagram likely has the highest infant mortality? £.

14, What is important about the ages 15-44 (noted in the lightest color in the figures above)?

f’m}( JF N’PN Jﬂ C]Im..m
Fill in the Blank (2 points per blank; 20 points total) .
1. The population of a given country is the result of births, deaths, fMF‘*’:’:'?fﬂﬁt)-n cand
em! ﬂrnllﬁfﬂ
VJﬂw‘\lv\ make up 70% of the world’s poor, do 2/3 of the work, earn 10% of

the income and own 0.01% of the property.

Tonlrosa PW is the tree species we saw gt Bear Canyon, Palisades Ranger
Station, and the top of Mt. Lemmon. é},/ﬁ,,/ br pine

As you drive north from Tucson towards Flagstaff saguaro cacti eventually disappear. The

most northern individuals are almost exclusively found on so "‘H/W - facing slopes

Two ways of trying to evaluate the worth of biediversity rely on 1) intrinsic value,

and 2) iﬂd’w‘f\{’ﬂﬁ I value.

Give an example of an endangered species found in Arizona: fendb /‘fmbf/'gm.f} L.

As atmospheric pressure decreases, ambient temperature also decreases. This is callec

N "A
dd! abetic cooling and we measured it on Mt. Lemmon

In a biosphere reserve, the three categories of land management are (or€

_I)M'AL’( _and transition.
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. Calculate the doubling time for a population growing at 3.0% per year. Show your work.
~H) 3.0 9(% =7 yer
& 5 r

2 Inthe equation for calculating population change over time, what do the variables “Ng‘and "k
represent? _ ) / p
N, = }‘orwl"{‘:‘OM@ Jiqjmr»'fr alcﬂrﬂa,éfff) (.ﬁmr r?f’fd\
K = poprlihon granfh e fobe of L M,

3. List two of the three characteristics of pollution that determine how large of an impact it has
f cfww'm/ (c?mpuﬁf fova
2| ancenfrohbn
L prltence o ennlonmy
4 Give two reasons why many people oppose the current plans to store nuclear waste at Yucce

Mountain, NV. ’ L\)or:yL 60/ e fﬁ( f’”’M‘ m o7r nmoﬁw f/xﬂs’)z;(ﬁ{a/‘a/ é fowe ,{m?é
2 s of e e Hyal e g dhey ol
2| Tarais of 64?"./;77‘””&;' V#Uwf A%, Vecanses

Why is hydrogen not currently a very viable energy alternative to fossil fuels?
(/aﬂ‘r_’nfrf ki ?m'/if é /W‘jz awow;/ d[ 51/ 74‘%’ fo ke The !175{/0:94.’
kihrolgly for iy hpttogen a5 fuel 17 filleypsive

5 How is the 2" law of thermodynamics related to the concept of net energy?
WG D L dade L PG| WasE (n Comuet ton 5, ,{&S‘ll Roels » duuput .

Really Short Answer (not more than a sentence; 30 points total; 3 points each) /é/tf

(&)

Nk wfﬂ‘—) s eable G_rLQﬂjj Wd ¢ Sarar lodt ia F»DC..LM (ex—-as htw‘i")
)

7 Give two examples of ecosystem services.

MGV‘\\I / See lechure slide

3 Draw a compound lea”.

MQ
00 55°
'n“a

9. How and why are saguaro cacti and palo verde trees associated?

P"‘lc’ verdeS are nwrse plent= 5 Lrt.)vnj &a_ﬁms,

10. Describe how loss of one species in an area could lead to loss of one or more other species
I\'\Mu} CASuwUrs
LY ~ loss of prey S(xc]cs leads 4o lass of predator (£ predator
(s deptndnt on t as main fosd Sewwrex |



Bonine, Boyle, Potter, Enviranmental Biology, ECOL 206, spring 2006

Short Answer (30 points total; 5 points each; a few sentences required)
1. Explain how inclusion of externalities would change the price of gasoline at your local filling station.

prciud‘l'ﬂ) FOI}Mwar w]'.r)“r'/wy {JH‘HJC)({ /*é’){‘t ; ML‘U}

a? mz’v«)mt] f}',ll;(/ml}r}’,{g /U.'c:_. wm(/ aH)r"aN{« A ?f%“’fa//éiﬂ,

LO& ga( «;)C d{ﬁ!?(f )[a//f(/ dgam}('gm/ffﬂw“f';;”[,g;c/,w—; wéf'r[\ ai’)(;l/{(jof/%
bwer ﬂm Pﬂ'oc 0‘( jMo/Jr”u ' e pu .

2 Describe five factors affecting human birth rates that differ between a developed European country like
Sweden and a developing African country like Nigeria.

See [ et o lechare )W 23

Be urc 4o mdeale by Sisedn and Migoria Jifler- for fhe frve
— -{;(-A-;fg V"“ /;’3" )

Draw a graphical representation of the species-area relationship. Be sure to label your axes. What 13
important about this relationship in the context of conservation biology?

ﬁpﬂwﬂ biodivasiy e nm/
v Lo (vuo Ve land ag Lm}{vmn?

‘)-F"gti:f'f /,// “\d k jr{* _{

aree oF fdﬂij/h;hr'for%

Explain how, in the context of environmental biology, it might be wise to think hierarchically about
recycling, reduction, and reuse as well as about reconciliation, reserve, and restoration ecology. (Hint 1
what order should we place these? Why?)

; -/
Ui = Penge —> beeye ;. Doensslon of w5t S rsonnes, Zulaws of
%fmm’yﬁ:m;}_a rfo/m)gvr\ af{ow{um/ﬁru
hefped achrey fu?h slpres,

/l‘SUrﬂf"’ /?ffch =% /Zcramfrﬁa ﬁwj frf % M;ﬂ’f’)fo s nfi%’ /ﬂ){o{f o
hﬂfu‘:[f'#m ;}/ /5 79 redfort :71'. fecw«w/m%aw
J(f?'ts /W}-H;-WHZ{ deridn ;M’pa( Au/’ [p:rn:?‘
/;{l:/& /}W"Wﬁn d/;éa)él"ﬂ ﬂl /ﬁy‘: ;Cq/g_ (/,-,// &‘/

place ,
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5 Explain why we should or should not flood the Grand Canyon on occasion to mimic the historical flood
regime, Justify your answer.

G oure fo tash your'anfm:r
b/f(mf(lbmjof vtﬂé ’4”"“/ )/"'M-"/ 4‘”/!"7%(/ /?474{)"{5/((??'] ku]
WM/‘/I’L!/'I nformn your f“bﬂ(’?

& How does a sewage treatment plant like the one you visited mimic a natural wetland? (Inclusion of
specific processes and reactions in your answer will get you a higher score.)

QL 7%£ /?M?(/?Vf/ n/€ fﬂ{%p/ on ymf/aﬁ mﬁ{”{v ‘ﬁvn/"
% Lpape Joeatarent f/Mf[f ﬂ!”r) w;/pr’g damclion.
L / fm# Lor disonss)on - ﬂJ/}k/ fvw/ér e

Gt pon /5} wlecobjal 7{[(&7[/?14'1?1; Hpnafon } WA”?&
0(’ oa?w'n(cr
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